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Name: Date:

AVERAGE RATE OF CHANGE
CoMMON CORE ALGEBRA I HOMEWORK

FLUENCY

I. For the function g(x) given in the table below, calculate the average rate of change for each of the
following intervals.

x =3 =1 4 6
g(x) 8 -2 13 12 5
(2) =3<x<~—I (b) =1<x<6 (c) =3<x<9

_=2-8 .-10 . _12--2Z _\y 5-83 .-3
-1-63) 2 e--1 7 q--3 (2
S - 5 z L s =
(d) Explain how vou can tell from the answers in (a) through (c) that this is not a table that represents a
linear function.

I€ this was o linear Fynction+en—+the Avcrage rde of
Change wanld have been +he same for each of Hese iteevals,

2. Consider the simple quadratic function f(x)=x*. Calculate the average rate of change of this function over

the following intervals:

(a) 0=x<2 (b) 2=x<4 c)d=x<6

F2)-£)  FAH-£(2) £)-£¢)
2-0 4-2 G-

4-0. 16-4 | 36 -6
792 et Xie.o
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(d) Clearly the average rate of change is getting larger at x gets larger.
How is this reflected in the graph of f shown sketched to the right?

As x 9«."‘5 larstf Fhe 3—v«|~\¢5

QGre fncre«s'mj 1A |arr,~c.r inFervals,

The 3@1\ (s 3&"-:}»9 sheepe~
QS we move from left to r.'jhi',
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3. Which has a greater average rate of change over the interval =2 < x <4, the function g(x)=16x-3 or the

function f(x)=2x"? Provide justification for your answer. é() ;\QS Q.
3 (<) £6) 3&4&« reake

-q 2
. 3(3)"%’G ) )
~G6l=-35 .96 = 3-8 _24
APPLICATlO%S 6 ) lé (D é i q

4. An object travels such that its distance, d, away from its starting point is shown as a function of time, ¢, in
seconds, in the graph below.

h

L

T

H

8

TS
3

(a) What 1s the average rate of change of d over the

interval 5<¢=77 Include proper units in your J 1L 64 (14,79)
answer, (11,64)

- 4-20 .44 e
—~7_5 7 72 P«

-

(b) The average rate of change of distance over time
(what you found in part (a)) 15 known as the
average speed of an object. Is the average
speed of this object greater on the interval (5.20)
O=r=5or 11147 Justfy,

g<+<5 ll&4<|Y
20-0 g 1964 _ A is shahtla arcod
5-0 T [4-11 - 5 ¢ on "H?c c'r\-?cr?/«'q i
REASONING , , .‘- fé l'~l

5. What makes the average rate of change of a linear function different from that of any other function? What
is the special name that we give to the average rate of change of a linear function?

“The average rate of change is & constant for

linear funchions ond is nat dlependent on +he
interva | over which i+ 1s calculated. Wi cqll +his
Qwverage rate of change +he slapc,

Distance (feet

Time (seconds)

—n\( QW/«,c Sp«.o‘
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Rules of Exponents Unit 9 Day 2
XAXXX - XXX
Rule: Examples:
axb g
Product Rule & xd e xt= Y a. x.x3= X
xt3
b. 2x.23= Q

a <b 5
Quotient Rule 2 % = Xq a. i_: =X
4)< X’3
& -4
b b 4 12
Power Rule = (xa) = )\& a. (xg) = X

o
—
w
[\N]
—
[*5)
I
[
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Power of a Product 2 (XY)Q - ka 3& a. (Clb)6 = o b*
3
b,  2%3 : o
(3-3)
| [1] L X H X
Power of a Quotient = y a a. y 7
. b
AR
b 4 l.’» > l
Zero Exponent 2 x0=\ a. 3;‘(5 = 3(|) =3
b (3x)°= |

# 09 = undefined
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Simplify each expression:

1. 3a’b’c® - Bab®c®
15q°3 b7

3. 3(23?';?5\3
3(}’8)(‘1 \f)
X' y*

January 29, 2019

35)(4':{?21&

= 3, .2
7)(‘,;‘5219 5—)( y

-2(-2x3y)?

-txyd = Ex4y*

o) +°\_\ e

yiyt =y =
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- 3 b
Bxy’ i SX\&S 8 5x* - 1asXx
acyt oy 2y 253
5y
TRAN
& BAA
(—12a%° ) (-&a"b)a 0 X _ |
L éa’b* | ' 5~ g
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Do the following without a calculator. Use the rules of exponents to help you evaluate
the expression. A
2 base .

¥

Express 82 as a power of 2.

x 3
8= 2 8 =

(3) -

5 =2

Divide 41° by 219,

5
L}US’ C-aa\ Qg,o
9 o 2 1o = -—"’_'a o =

10
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aFtM

~
Using the power r'che evaluate 16 times 9.

y*.3% = (Lf-3):L =13 =)

Using the power rule multiply 25 fimes 9.

52-3a = (53) = /5% = aas

11
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Apply the properties of exponents to verify that each statement is an identity.

2n+1 2 n
3n =2(§)
I _ata’
5'\ - 3"\
aﬂ*' n+t\
ELRER v

3n+1 _ 311 — 2(311)
3\\ g:

3 (3 -1 =2)
(3 = 23V
a(3N) =2BH

12



	Page 1: Jan 23-5:57 PM
	Page 2: Jan 23-2:19 PM
	Page 3: Jan 23-2:25 PM
	Page 4: Jan 23-2:25 PM
	Page 5: Nov 18-5:10 PM
	Page 6: Nov 18-5:00 PM
	Page 7: Nov 18-5:02 PM
	Page 8: Nov 18-5:03 PM
	Page 9: Nov 18-5:03 PM
	Page 10: Nov 18-5:04 PM
	Page 11: Nov 18-5:04 PM
	Page 12: Nov 18-5:04 PM

